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Simple Linear Equations (A)

18

34+ —=12

942 =5

. u+2=-8

Solve for each variable.

6. 22=72 b

L1 10-§:3
7_1"§:_7 zz.—_y—,]:——7
8.gm(—)=6 13 22—5
9.a—2=-10 w2y
10-223 15.%+3-——8
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Simple Linear Equations (B)

&

u-5=-21
L (-1)=9
=y

=3
.é%—uhzmw

Solve for each variable.

6;%:9 11.
X
a
. ==6 12
"7
12
o 2E_7__4 13
y
1 14.
9, — =6
b
15.
10. —3u = —06

Ta=-21

O R

2 44=2
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Simple Linear Equations (A)

.mlO—f%::—19
S (-9)=18
.3+$=1
513

y

X (-10) =6

Solve for each variable.

b Vv
- () =4
6.7+ =11 . 2 +(=2)
1%
7.§+6:12 12~_—6+(—4)—
Y
i vV
u_ D= 6
12 c
e S S4=27
9 ” 7T=-—1 14 q
14 y
10. 64— =8 15.-§~|~(-—2):6
i
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Simple Linear Equations (B)

Solve for each variable.

.9——_3-’-5—:0 6.6—|—mi4:12 u.:y-g+(—4)m1
4 v —27
(=Y =11 7. —+4=238 ——8=-5
~—(=7) g 2. —
— V
.6———§:12 3-1——_‘“9““—“6 13. 10+fx6
¢ X
—24 Y _ 24
316 9. ——6=-9 14 g
+ 2 4 14 1+b
—72
,10+é:14 10. 24+ ——=-6 15.1—10=—7
2 u -9
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Simple Linear Equations (C)

L6+

.6+

c
~ =1
3 5

=10

45

+ = =4

Solve for each variable.

5
-2 =7
&27%

7. — +(=10) = -7

24
8. 64+ — =12

16
-

v
. —+7=13
10 _7+

1.

12.

13.

14.

15.

-%? (—2) =3
Zgl 2= 5
645 =2
2—{%:7
54+ =9

Math-Drills.com




Simple Linear Equations (D)

Solve for each variable.

W <

—10=-5 61+g:3 .
5+%£41 T%—F&=@ 12.
3-2=o 4= =13 13
._7_3%:_46 9%—{—MD213 14,
.2+£%:11 mi%%+5=—2 is.

. =—=+3=11

—14-=3
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Simple Linear Equations (E)

18
_|_

921

72

~J| ™

Solve for each variable.

6. 5+>=10

10.

5

10— — =7

|3

2.

13.

14.

15.

—72
.—7—i—6:14

7—§::13

—9 =17

Wl s

§—— =1
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Simple Linear Equations (F)

B =

Sia=3
X

g~ (-9)=
+5=10

.7+g=13
Y 15=11

Solve for each variable.

6.

10.

v
—6—!—-2-——4
2____10:.4

c
5——2—55:12

<

Z
—3—--=2

8

u
— —(=5) =7
)

I1.

12.

13.

14.

15.

—+9=11

8§~ — =11
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Simple Linear Equations (G)

T4+ =-13

Solve for each variable,

45 x
6. —104+— = —15 . o+ (~4) =1
(2}
_ —12
7. _4_225 22———=-4
i a
3 __6_7:_1 13.—u“+539
. p -3
—60
0o 4—2 = 2 ws-20_ 4
4 y
;
10, - —4 =3 5. S-9=_¢
Z 6
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Simple Linear Equations (H)

ys-1a
Z
X
—Z—4
°=3
o+ 01
a
c
L (—8) =17
— —(=8)
g8y

Solve for each variable.

6. é+(—8) =—14 L.
7

7 -1-2——|—5:9 12
X

8.%—102“19 13.
y

9.7—g:16 14.

Y
0. = —(~10) =16 1s.

10+~ =16

40

. —+9=13
¢

l+— =3

6.5

l
+2 -
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Simple Linear Equations (I)

L _5=4
~6

Solve for each variable.

X
6, ] ——-=06
7 11.
6
7. —2+—-=-4 12
Vv
b
8. 4——-=11 13.
7
9. 10+§=14 14.
b
-4
10.7—1——9x14 15.
Vv

20
10+ = =5
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Simple Linear Equations (J)

.7—|—2=16

N

)

Lh

Solve for each variable.

—42
6.1—6-~2m2 1. 5——=12
y b
10 7. 2 47=0 e P
-2 c
C C
_ _ —2 =11 —7] ——=-5
_|_2_5 8 —-8 13 ---8
(—4)=8 9 jx§+6=14 14.~;—m(-—9):18
14 —
3+-—"=6 10. 10—;—-2-:8 15.78%—(—10):—8

Math-Drills.com




Simple Linear Equations (A) Answers

Qoo L
Il
i
B

=32

2. b—(=5) =13
b o=

36
4. =94 —

a=9

li
l
Ln

5. 4+2=—8
=10

Solve for each variable.

6. 272 =72
z=1
y
7. —1—==-7
8
y == 48
8
g ——(—2)=6
“—(-2)
oo
9.a—2=-—10
a=—
i
0. —=23
6
=18

11.

14.

15.

b
10~ —=73
2

bh=14

Sl o

H

_|_
N W
I
oo
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Simple Linear Equations (B) Answers

<un| <

—2u—5=-21
=48
—(=1)=9
=40
—12
4
b
b=-3
=3
=18
.i—loz—wlS
b =735

Solve for each variable.

10.

36,

x=—4

28
I
B

NG (@)

12.

13.

14,

I5.

"\]OO|N

— -8
= 64

Ta=-21
a= -3

QOIS
I
[y

Ny (OV]

U

— 4 =2
———6+
=12
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Simple Linear Equations (J) Answers

Solve for each variable.

1 —42
7-{—-9-x16 6.—6—~sz 1.5———=12
a y b
== )‘:4 hb=6
—15
5+——=10 7 X 47=0 n 2 5o
y —2 c
y=-3 x=14 c=4
—18 ¢ ¢ _
_ g, — —2=—11 13, = 7T——=-5
. +2=35 _3 —38
y=—6 c=172 c=16
z X _ v _
.:—3—-—(—4):8 9._—3+6_14 14.5—(——9)_18
=12 x=-24 v=28]
— 14 —8
.—3+—9:6 10. 104+ — =28 15, —— 4 (—10) = —8
a z 1"
a=—1 z=-7 u=—4
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Simple Linear Equations (I) Answers

~ N =

. ——=5=4
x=-54

Solve for each variable.

6.

10.

X
[—Z =

7 6
x=-35

D= 4

V= -3

10+ - = 14
b=2

7+___A.'.9=14

v= -7

I1.

12.

13.

14.

15.

1042 - s

a=4
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Simple Linear Equations (H) Answers

Solve for each variable.

36 b v
L —4+8=14 6. —+(—8) = —14 1. 10+ - =16
Z 7 L — 94
7= b= —-42 V=2
40
2.6—5:4 7,.1_-2-+5:9 12, = 49 =13
3 X ¢
x=06 x=23 c= 10
_ 90 b
5 o419 3. 2~ 10=—19 3. —1+— =3
a y —4
4= — y=—10 b=-16
-5
4.i—(—8)=17 9.7—§:16 14.——6+3=11
2 e y 2
C—=——1 :y:___ .‘,’———7
18 10
5, —8— — = —17 0. — — (=10) = 16 5. —8+— = —6
c —6 X
¢ o= 2, V:—36 A==
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Simple Linear Equations (G) Answers

Y T=-14
=21
—2
7——=35
Y
y=—]
X
By BT,
+3 13
v=—18
—27
=T =2
c
c=-3
.g+(—--6)m0
a =36

Solve for each variable.

10.

4
—104+2 =15
a

(= —9

11.

12.

13.

14.

15.

X
ZH (-4 =1
x =10
2___12:_4
a
a= -2
U
_—3—1—5—~9
H=-—12
y
y=10
c
g =0
c=18
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Simple Linear Equations (F) Answers

ool D
Il
o)
B

T+==13
x =54

N
._]_

—  Lh
Il
[—
—t

Solve for each variable.

6.

10.

v
b — = —4

+2
v=4

11,

2.

13.

14.

I5.

—+9=16
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Simple Linear Equations (E) Answers

At

N Cs=13

c=25

o
|
|
I

~

~J

Nq[N
I

(o))

(2

Solve for each variable.

6.

10.

X
S —_——
—?—5 10
x =25

SN R
o
Lao—
[\
Il
N

10— —=7
x= =27

11.

12.

[3.

14.

15.

72

—+6=14
c

c=-9

18
7-==13
b

b=—3

|
)
I}

-17

Twlw
I
I
I~
=
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Simple Linear Equations (D) Answers

%
. =—10=—
3 0 5
v=15
54
2. 54+4—=11
Y
)::9
v
3.3——=0
4
v=12
y
4, —7T——=-16
—8
y == =72
s.2+i3:11
y= =27

Solve for each variable.

a
a=16
c
12— (-8)=2
c= 24
y [
8. —4 = 13
y=—36
c
9. ——(—=10)=13
2~ (-10)
c=18
—42
0. —+5=-2
V
N

24

1. —+(-2)=2
c
c=06

9
12. 44+ —=7
X
X =

y

13 —4+3=11
m7 +
y=—56

C
4 —+6=11

_3+

c=—15

4
15, “1+'5:3
b=
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Simple Linear Equations (C) Answers

Solve for each variable.

c —-20
L6+z=15 6_2——2-27 11.74—(“2):3
c=21 b=—1 b=—4
Y _3=0 -9 21
’ 8 - 7. 7+(—10):—7 12. —b~—-—}—2z—5
y == 24 7= -3 h=23
—90
2 24 ¢
x=10 v:éf c=—-32
4 ¢
_ 16 _
46-|-a—10 9___|_(_3):1 142—1—-7
a=1 d=4 ¢ =20
45 32
5942 =4 0. — +7=13 15. 54 =—==9
a —7 b
a=-9 y=—42 h=3§
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Simple Linear Equations (B) Answers

y _
9 _5—0
y = 45
—(=7)=11
=1
6—:E:12
C
=
—24
.3—|—7—6
bh=—8
b
) 10—%—5214
b=28

Solve for each variable.

6.

10.

u
64+ — =12
-I—_4 1
= —24
v

.§+4—8
v=32

v

]——=6

-9
v=45
Y _
—4 =9
y=12
—72
24— =6
U
u=>9

11.

12.

13.

14.

15.

:}ig+(—4)=1
y=—40
—27
— —8=-5
a
a= -9
4
10+~-=6
X
X mm -
24
1+ =y
+b
b= -8
c
— —10= -7
-9
c=—27
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S ool o

Simple Linear Equations (A) Answers

X
=10 — = —
0 —Z 19
x=-—45
—(~9) =18
=72
+==1
x=-—14
.§§+5=13
y
}.’:
36
20 1 (~10) = —6
b~9

Solve for each variable.

6.

10.

b
7 _—
+4 11
b=16

18
—r6=12

L 9+-—-=13

=16

[1.

2.

13.

14,

15.

v
— - (2) = —4
S (=)

p o o—14

Lo (—4)=-8
v=24

vy =24
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